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The more the relative humidity reading rises, the heat affects us.
1) the worser 2) the worse
3) the bad 4) the worst
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Knowing little about math,
1) it was difficult for me to solve the problem 2) | found it difficult to solve the problem
3) the solution of the problem was difficult 4) the problem was difficult to be solved
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It knows | know

The solution knows The problem knows
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The English that is spoken in Canada is similar to that of the United States.

The rooms in the front are much noisier than those in the back.
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A: “Do you have your windows cleaned every month?” TOS Sb gy b 4iud om0 0l
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This book helps you understand the lecture.
This book helps you to understand the lecture. (s g 90 gD LS (50 SwS ugr DS (0l
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